AL &%

==

ER

vl

/

1oty

E

FoEFEH B

D

7= by 8a

Fn

1. EAER 1§§ ﬁgﬁ

EREREES UIERES |

=

%5

=

EaE

FC2AB—-122

YRR

RFER B/ EAR
= 4 Fn

7% ba 8g

S 2«

8s

AHPMOWT 5 A

S T 9

lm

2. A% - EHEESR

PR E DRAXITATH

BrEE O E R

ERE DK4 XX
% % 3k

R F o EPT
X %k k

EROAHDNE

* %k k%

3. EFFFAER

H4 g &

[262]

itk

2KG—FC2ABA

RS OT

A05C

HENE DR @ s %1

B X H

- EEXR o

e

FEOBR | % 4 73— [012]

REER

2

A

BEAHEE

2500 g

ERREE

EMEER

5350k 7960k«

K&

816 cu

18

223

mS

306 en

ch

Hif /i i E A B E

3220 ke ;kg] ks

— ke

BREME

2130h

RIFTEX I ERHS

k¥

b.12

BB O

X

BEEES

FRRSES

4. B=E
[ 1, pExeg, TELXEA
[3O$Eﬁﬂ]Aﬂ2$8EZGE G 50 %WBIEEY

$ﬁ27$§%%§$éﬁﬁ
Eﬁﬁﬁﬁﬁ(NOX PM) #EH.
EMﬂ% 1 S I
[Eﬁﬁ%+%7ﬁ]19
[m%ﬁﬁﬁ+§rﬁ]15
EERTHME, &

ZOEHEOEAOFILIINO

2H)
4R8)

o am

_m

(SRRl 8
[&Eﬁ@ﬁﬁ%ﬁ%ﬁkﬁ]ﬁﬁ%ﬁﬂﬁﬁ%ﬁ&b

[SRTE] BEEHRISE
Ea—)F] 43—-01417

(BT
[EOMBESEE] (920) BREFv7
BUF4&B

18 100L

[EEFHE]
ERFHIIVAT 2EFREAOERLRVET

EiID

E#AEE FERE R

SRANE T

EIRFSI e

el TR




